F1008 (FER265FE38H) BT —4 GE #)
Bi-HAH
10/3 11/3 12/3 13/3 14/3
stEE 96,592 106,059 108,446 111,275 117,355
BIEELE -24.0% 9.8% 2.3% 2.6% 5.5%
EENE 6,976 6,341 4,638 6,558 6,470
BIEELE -3.0% -9.1% -26.9% 41.4% -1.3%
BEFE 6,248 5,929 4,388 6,521 6,501
BIEELE -3.5% -5.1% -26.0% 48.6% -0.3%
L HA SR 25 3,079 3,063 2,480 4,039 3,564
BIEELE -9.3% -0.5% -19.0% 62.8% -11.8%
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10088 (FER26FE3RAHA) BAFST—4

GE #%)

By HEA
10/3 11/3 12/3 13/3 14/3
WEE 97,533 100,138 94,981 99,972 107,583
BIEELE -3.5% 2.7% -5.2% 5.3% 7.6%
ErFEE 27,555 30,165 24,290 22,319 23,728
mEFFAalE 17,729 17,056 18,616 15,657 14,921
B 53,847 53,433 54,489 60,219 66,777
RITEKRA 113,069 109,224 109,222 109,221 109,218
a5A BRE a5F sNFAM-wENTAm D5NI0E.
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10088 (FER26FE3AEA)

BT —4
[4R #= %]

GE #%)

10/3 11/3 12/3 13/3 14/3
SELEEEFEE 7.2% 6.0% 4.3% 5.9% 5.5%
SELEREREER 6.5% 5.6% 4.0% 5.9% 5.5%
ROE (BE &A% MaFE) 6.0% 5.8% 4.7% 7.2% 5.7%
ROA (MBEEEFZR) 6.3% 6.0% 4.5% 6.7% 6.3%
CROA Grtyya-Y4—v-42- o) 6.6% 6.2% 5.6% 7.2% 6.8%

CROA=(4 SIFIZE + EREIE) / BB RFEHREE
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10088 (FER26FE3AEA)

[%h = %]

5T —

3

GE #%)

10/3 11/3 12/3 13/3 14/3
B ERER 0.97 1.07 1.11 1.14 1.13 @/&
i & E R SRR 1.88 2.01 2.04 1.97 1.88 E/4&
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